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1. Answer the following as directed : 1×7=7

t°∫t° [É⁄‡ ö¯≈óŒ≥Ë“π [>ÏÉ¢≈ ">ÂŒ[π l°¸v°π [É⁄‡ :

(a) What is Giffen paradox?

[KÏÛ°> ŒÚ‡=π ≥‡Ï> [A°?

(b) What does cardinal utility approach
assume about the marginal utility of
money?

≥Ââ‡π ö¯‡[îzA° l°¸öÏô‡[Kt°‡ Œ¥öÏA¢° Œ‡}[J∏A° l°¸öÏô‡[Kt°‡
≥t°§‡Éπ ">Â[≥t° —¨„A°‡ô¢ [A°?

1-21/213 ( Turn Over )

( 2 )

(c) A higher indifference curve can never

give higher level of satisfaction than a

lower indifference curve, therefore, the

consumer is indifferent.
( Write True or False )

&l°‡∫ l°¸ZW° [>πÏö¤° ÎπJ‡“¸ ÎA°[t°⁄‡* &l°‡∫ [>≥ó
[>πÏö¤° ÎπJ‡t°ÓA° "[ãA° ŒîÒ[ ° [É§ Î>‡Ø‡Ïπ,
ÎŒ“§̧‡Ï§ l°¸öÏÆ°‡v°˚°‡ [>πÏö¤° Ì“ =‡ÏA°°˙

( «°á˝° Î> "«°á˝° [∫J‡ )

(d) State the meaning of price-

discrimination.

Éπ-[§ÏÆ°É„A°πoπ "=¢ [∫J‡°˙

(e) What is an isoquant?

Œ≥-l°¸;ö‡É> ÎπJ‡ ≥‡Ï> [A°?

(f) What is least-cost combination?

>Ë∏>t°≥ §∏⁄ l°¸ö‡É‡> Î\‡i° ≥‡Ï> [A°?

(g) What is factor-pricing?

l°¸ö‡É‡>π Éπ ≥‡Ï> [A°?

2. Answer the following questions : 2×4=8

t°∫π ö¯≈óŒ≥Ë“π l°¸v°π [É⁄‡ :

(a) Give the meaning of marginal rate of

substitution.

ö¯‡[îzA°-ö¯[t°A°ø>π “‡ππ "=¢ [∫J‡°˙

(b) What is product differentiation?

â§∏-öı=A°„A°πo ≥‡Ï> [A°?

(c) Write the meaning of return to scale.

l°¸;ö‡É>π ≥‡y‡π "=¢ [∫J‡°˙
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(d) What does quasi-rent refer to?

ŒÉı≈-J‡\>‡“¸ [A° §Â\‡⁄?

3. Answer any three of the following questions :

5×3=15
t°∫t° [É⁄‡ ö¯≈óŒ≥Ë“π [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ l°¸v°π [É⁄‡ :

(a) Describe the stable and unstable

equilibrium.

ŒÂ[—Çπ "‡πÁ° "[—Çπ Æ°‡πŒ‡≥∏π §o¢>‡ [É⁄‡°˙

(b) State the assumptions of indifference

curve analysis.

[>πÏö¤° ÎπJ‡ [§Ï≈√»oπ ">Â[≥t° —¨„A°‡ô¢Œ≥Ë“ l°¸Ï¿J
A°π‡°˙

(c) Write the defects of the Marshallian

utility analysis.

≥‡·¢‡∫π l°¸öÏô‡[Kt°‡ [§Ï≈√»oπ "‡ÏŒÚ‡Ø‡“Œ≥Ë“ [∫J‡°˙

(d) State the concept of the law of variable

proportion.

ö[πØt¢°>≈„∫ ">Âö‡t° [§[ãπ ã‡πo‡Ïi°‡ [∫J‡°˙

(e) Why is rent called a differential

surplus?

J‡\>‡A° [A°⁄ ö‡=¢A°∏\[>t° l°¸áıv° §Â[∫ ÎA°‡Ø‡ “⁄?

4. (a) Elaborate the concepts of price-effect,

income-effect and substitution-effect.

3+3+4=10

Éπ-[§ö‡A°, "‡⁄-[§ö‡A° "‡πÁ° [§A°ø-[§ö‡A°π
ã‡πo‡ÏA°“¸i°‡ §“∫‡“¸ [∫J‡°˙
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Or / "=¤à

Elaborate the concepts of economies

and diseconomies of scale. 5+5=10

l°¸;ö‡É>-≥‡y‡π [≥t°§∏[⁄t°‡ "‡πÁ° "[≥t°§∏[⁄t°‡Œ≥Ë“
§“∫‡“¸ [∫J‡°˙

(b) “The monopolist is the price-maker.” On 

the basis of this statement, explain the

price-output determination strategy of a 

monopolist. 10

ëë&A°ÏW°[i°⁄‡ §∏ØŒ‡⁄„ Ì“Ï· Éπ-[>≥¢‡t°‡°˙íí &“¸ ≥îz§∏π
"‡ã‡πt° &A°ÏW°[i°⁄‡ §∏ØŒ‡⁄„Ï⁄ [A°ÉÏπ Éπ "‡πÁ° Œ‡≥N¯„π 
ö[π≥‡o [>ã¢‡πo A°Ïπ, t°‡π ÎA°Ô≈∫ §∏‡J∏‡ A°π‡°˙

Or / "=¤à

Draw and explain the shapes of

marginal revenue curve under perfectly

competitive and monopoly market. 5+5=10

öËo¢ ö¯[t°Ïô‡[Kt°‡≥Ë∫A° §\‡π "‡πÁ° &A°ÏW°[i°⁄‡ §\‡ππ
ö¯‡[îzA° "‡⁄ ÎπJ‡ "}A°> A°[π §∏‡J∏‡ A°π‡°˙

(c) Explain the uncertainty bearing theory

of profit. 10

∫‡Æ°π "[>∆W°⁄t°‡ §“>π t°wÏi°‡ §∏‡J∏‡ A°π‡°˙

Or / "=¤à

How is wage determined under bilateral

monopoly? Explain. 10

[áö‡[¤°A° &A°ÏW°[i°⁄‡ §\‡πt° [A°ÉÏπ ≥\Â[π [>ã¢‡πo A°π‡
“⁄? §∏‡J∏‡ A°π‡°˙
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